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1.  The compressive strength of.first class bricks should not be less than
(A) 7 N/mm? 105 N'imm?(C) 12 N/'mm? (D) 15 N/'mm*
2. The process of buning the lime stone 1o redness in contact with air j8 termed
(A) Carbonation (B) Omdation (C)} Hydration )D‘))ﬂ Caleination
3. Stucpo plastering is used in
excellent fimish (B} X-ray tooms
(C) sound proofing (D) all of the above
4.  Refractory bricks resist
{A) Chemical action (B) _ Shocks and vibrations
(C) Dampness ,kB{’ High temperature
5. Due o attack of dry rob, the timber
(A) cracks (B) twist (C) shrinks /m/}‘ reduces 1o powder
6. A well seasoned imber may contain moisture upto
(A] 1% (B) 2% (Cy 5% %I{'ll%
7. The central part of a tree is palled
(A} Heart wood Pith (C) Sap wood (D}  Cambium layer
8. Chemically, marble is known as
(A), Metamorphic rock (B) Argillaceous rock
") Calcarecus rock (D} Siliceous rock
9,  Lime mortar 15 generally made with
(A) quick lime (B) [at lime )&'{ hydraulic lime (DY) white lime
10. A good building stone 15 one which does not absorb more than of its weight of water
after one day’s immersion
,(4(? 5% (B) 10% () 15% © (D) 20%
11. A stretcher bond is usually used for
Half brick wall (B) Oneand half brick wall
{C) Two bnick wall (D} Onebrck wall
12. A series of steps without any platform or landing is called
{A) Soffit Flight {C) Pitch (D) Nosing
13. The construction of & tem structure required to support an unsafe structure is called
{A) under pinning shoring  (C)  scaffolding (D) shuttering
14. A levelled honzontal martar joint in a masonry wall is called
(A) walljoint (B bedjoint (C) crossjoint (D) bonded joint
CLEG 2 (n]
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A wall constructed to withstand the pressure of an earth filling is
(A) Parapet wall {B) _ Sloping wall
(C} Butwress Retaining wall

Fer damp proof course at phinth level, the commonly adopted material is
{A) Membrane sneeting (B) Mortar sheeting
1 Bilumen sheeting (D) Paint coating

When a brick is cut into two halves longitudinally, one part is called
{A) King closer : (Quesn closer
{C) Comice brick (D) Bart

The mimmum number of days required (o strip-off the side form work of RC beams after

casting of the concrete 1s about
/M‘fwl (B) S [y 10 o 14

The type of stone masonry commaonly adopted in the construction of residential building is
(A) Uncoursed rubble masonry T Coursed rubble masonry
(C) Random rubble masonry (D) Dry rubble masonry
A Type of flooring made with special aggregate af marble chips mixed with white and
coloured cement, 15 called
(A) Mosaic flooring /H'n,l Terrazzo Mooring
(C)  Asphalt Noonng {D} None of the above
The window used with the object of providing hight and air o the enclosed space below
the pitched roof, is called
/M); Dormer window (B)  Corner window
(C) Bay window (D) Clerestory window
A bat is the portion of a
(A} wall between facing and backing
{B) _ wall not exposed o weather
1 brick cut across the width
(D) brick cur in such 2 manner that its one long face remains uncut
In cgse of buildings without basemenl, the best position for D.P.C. lies at
Plinth level (B} Ground Jevel
(C) 15 cm above the plinth level (D) 15 ¢m above the ground level
A type of bond in a brick masonry in which each course consist of alternate ieaders and
stretchers, s called
(A} English bond _AB] Flemish bond
(C) Stretching bond (D) Heading bond
Whagh one of the following may be classified as personal error in levelling 7
1 Error in sighting {B] 'Wind vibrations
(C}  Atmosphenc refractions {D) Error due to defective joint
3 CLEG
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26. The best method of interpellation of contours in direct method of conlouning 15 by
(A) Graphrcal method
(B) . Auxiliary contounng
\ Computations (Anthmetical calculation)
(D) Estimation
27.  The capability of a telescope of producing a sharp image is called as
(A) Magnification (B) Sensitivity Definition (D) Bnghtress
28. The process of moving in or out the eye-piece untill the cross-hairs are clearly visible is
called
(A} Remaoving the parallax (B) Focussing the abjective
(C)  Adjusting the cross-hairs ,LB')"Fucussing the cye-picee
29, The method of surveying used for determining the refative height of points on the surface
of the earth 15 called
AT levelling (B) traversing
(C) triangulation (D) plane table surveying
30, A dgflection angle in a traverse is equal to the
) difference between the included angle and 1807
(B) difference between 360° and the included angle
(C) sum of the included angle and 180°
(D} none of the above
31.  Animaginary line joining points of equal elevation is called
{A) ahenzonal line (B) alevel line
(C} anisogonic line /(.E?]" a contour
31, Cross-sectioning and *longitudinal sectioning’ is usualiy involved in
{A} check levelling (B) differential levelling
(C)  simple levelling iﬂf profile levelling
33. The curvature of earth is taken inio consideration, if the limil of survey is
(A) 1to10km? {B) 251055 km’
{C) 50 to 100 km? AB7T" More than 250 km?
34, Contour Iines cross nidge on valley lines at
(A) 30° (B) 45° (C) 60° /pzrj" 90°
35. The value of dismantled material are called as
(A) Salvage value /{E}a Scrap value(C) Market value (D)  All of the above
36. All works are assessed as per schedule of rates, except the one
(A) , Estimates of cost (B] Agreements
% Design (D}  Contract
CLEG 4 o
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37. The book values goes on
(A) Increasing cvery year ;‘"( Reducing every vear
(C) Increasing once in 5 year () Decreasing once in 5 year
38. Capigalized value 1s
Net annual income = vear's purchase
{B) Monthly income x vear's purchase
(C) 5% inlerest per annum
(D} 5% interest per month
39, For mortgage purposes the mortgage value of a property is laken as of the
valuation or capitahzed value.
| 2 ] & s 14 - |
(A) Fte 3 ’(«Bf 3 o3 () ey () 10y
40. The capatal cost for rent fixation may be
(A)  costof construction
(B) costof sanitary and water supply works
(C) costof electnc installations
ai] of the above
41, The {Gross renl is
MNet rent + outgoing {B) Net rent + 6% ol vutgoing
() Net rent + 8% of outgoeing (D) Noneg of the above
42,  Along with the preliminary gstimate, about 15 added 1o 1t as contingencies charges.
(A} 10% ,(afF 5% (€ 6% D) §%
43, Accurate estimate is prepared by
{A) Preliminary estimate (B) Revised estmate
/;&')’ Detailed estimate (D) Plinth arca estimate
44. Damp proof course is measyred in
(A) kg /ﬁﬁy sq. metres (C) centimetre (I kilometre
45. A beam which is fixed at one end and free at the other end is called
(A) Simply supported beam (B} Fixed beam
{C} Overhanging beam "LD“]" Cantilever beam
46. Simple hending equation is
o M_R_E M _E_F
A TTETY I "RTY
. M B ¥ : : ;
() T ? ({1 None of these
O CLEG
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47.  The maximum deflection of a simply supported beam of length L with a central load W is
WL: WL oo QRS R
(A) SxET ® 2 © 3w /“D{ 4BE]

48. The ratio of the effective length of a column and maximum radius of gyration of its cross-
sectional area, is known as

{A) Buckling factor )3{ Slenderness ratio
(C) Cripphng factor (D) MNone of these
49, Anarch with three lunges, 15 structure
/L.‘d)':sta[ica.lly determinate {B) statically indeterminate
{C) geometrically unstable {D) none of these

50. A simply supported beam of span L, cross-section A carrying a point load W,
concentrated at the centre of span L, will have maxinum bending moment of
WL WL WL

o L i (53 3 o 5

51. [f P 1s the internat pressure in a thin cylinder of diameter d and thickness 1, the developed
Hoap stress, 15
Pd Pd Pd 2Pd

(A) 5 B T 5 D) =

52. Inathree hinged arch, the shear force 15 usually
(A) maximum at crown maximum at springings
(C)  maximum at quarter points {D} wvaries with slope

53, The effect of arching a beam, is
AT 1o reduce the bending moment throughout
{B) toincrease the bending moment throughout
{C) nothing on the bending throughout
(D}  all the above

54. If the beam is supporied so that there are only three unknown reactive clemenis at the
supports. These can be determined by using the following fundamental equation of statics -

(A) EH=0 (By XV=0
(C) TH=0,ZV=0 B TH=0,TV=0,IM =0

55. The ratio of Young's modulus to modulus of rigidity for a material having Poisson’s ratio
0.2 18

(A) 2 J.B}/z.-: {C) 28 (D) 3

56. The ratio of maximum load to the onginal areg of cross-section 15

(A) Strain AT Ultimate Stress
(C) Young's Modulus (D) Unit Stress
CLEG 6 O
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57. A simply supported beam of span *I" carries a udl of W per unit run over the whole span.
The maximum bending moment is given by
Wi Wi

(A) 3 (Bl 1

) Wi
/qu/ 5 (D) None of the above

58. The slope at the mid span of a beam of length L, simply supported al the ends, carrying a
cencentrated load W at its mid span is

_ W2 - Wi Wl -
);.(.r:r:m (B 25 A (DY T6EI

59.  Pick up the correct statement from the following :
A} Forauniformly distributed load, the shear force vanies linearly.
{B) For a load varyving lingarly, the shear ferce curve is a parabola,
{C) _Foraload varying linearly, the B.M. curve is a cubic parabola.
_’;BT’ All of the above

60. The state of siress &1 a peint in a stressed element 1s shown in the given figure. The
maximum tensile stress in the elemen will be

L0 Nimm?
—
[ N.fmnﬁl I G MN/mm?
—
10 Mémm e 23
(A) 20 Nimm? (B) 1002 Nimm?

,[.E‘( 10 Némm- (D) Zero

61. [fe, and ¢, (e, > e,) are he maximum and minimum strains 12 the neighbourhood of a

point in a stressed material of Young’s modulus *E' and Poisson’s ratic ‘u’, then the
maximum principal stress will be given by
(A) Ee, (B} Efe, +e,)

E (e, +pe,) E (e, + pe)
S RO

62. The sheanng force at the fixed end of a cantilever of length [, carrying umiformly
distnibuted load of "W per unit length aver the whole length is
WL 2
A) "R /.{‘B'_r WL (Cy 2WL (D) WL-

63. Choose the correct answer
The ratio of shear stress and shear sttain of an elastic malerial is

(A} Modulus of ngidity {H) Shear modulus
() Young's modulus ((D‘]/Bmh {A) and (B)
o T CLEG
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64. Point of contraflexure is where
{A) Bending Moment is zero
(B) Shear Force 15 zero
Sign of Hending Moment changes
(D) Bending Moment is maximum

65.  Main difference in Bonssinesq's and Wester (Gaard's theery 1s due to
{A} Consideranon of different soil modulus value E.
) Poisson's rano
{C) Homogeneous nature of soil
(DY Presence of vouds and channels in sail

66. Increase of compaction, effect on a soil causes :
reduction in O.M.C,
(B) increasesin O.M.C.
(C} nochange nQM.C.
(D) increases or decreases in (.M.C. which depends on the nature of soil.

67. The degree of saturation on zero air vuiii{t:?s
100%,

(A) 40% (B) 45% M 60%

68. The coefficient of consolidation is used for
) establishing the duration of primary consclidation
(B) estimating the amount of settlement for a load increment
(C) determining the depth 1o which the soil is stressed when loads are applied on the
surface of a soil deposit.
(D} determining the preconsclidation pressure for sl deposit known to be over
consolidated.

69. The slope of the e-log p curve for a soil mass gives
{A) coefficient of permeability, k
(B} coefficient of consolidation, C,,

?} compression index, C-
(D) coefficient of volume compressibslity, M,

70. Assertion (A} : The water content of a soil remains unchanged during the entire test in
unconsolidated undrained test.
Reason (R} : Drainage is not permitted duning the application of stresses,
Codes :
s Both (A} and (R) are true and (R} is the correct explanation of (A).
(B) Both (A)and (R) are true and (R) 1s not a correct explanation of {A).
(Cy  (A)1s rue, but (R) is false,
(D) (A) is false, but (R) 1s true.

71.  The ratic of unconfined compressive strength of an undistnbuted sample of soil to that of
a remoulded sample. at the same water conlenl, is known as
{A) activity (B) damping (C) plasticily /DJ/ sensitivily
CLEG 8 n]
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Of the [vllowing soils, charactenzed by thewr USCS group symbol, which one is most

suitable as fill for a road embankment 7

(A) SM (B) GC )12( GW D) CL

Stability of an infinite slope 5 lowest for
(A} _Partially saturated soil (B}  Dry soil
Seepage paralled slope (D) Honzeonlal seepage

{1} The void ratio of soil can exceed unity.

(2)  The waler cantent of a soil cannot be greater than one hundred percent.
(3} Inthe IS classificaiion System "SM" stands for sandy silt.

Whuch of the above statements are TRUE 7

.J.i
(A) (21&(3) BY (L (21 & (D)
(C) (lyonly (D) {3)only
Rankine's theory of earth pressure assumes that the back of the wall 1s
(A} Plane and smocth (B)  Plane and rough
ﬂ". Vertical and smoath {Dy  Vertical and rough

Due ta negative skin friction on a pile, the load carrying capacity of the pile
{A) increases )m} decreases {C) remains same (D) uncertain

lezss than | iB) meorethan |
{C) equaltol (D} none of the abave

: Jj};fﬁcimcy of a group of piles driven m dense sand is usually

The load carrying capacity of an individual friction pile is 200 kN, The total lead carrving

capacily of a group of 9 such piles with group e¢Mciency factor of 0.8 is
(A} 18500kN (B} 1640 kN *?'? 1440 kN (DY GO0 kN

The settlement AH ol a clay layer of thickness H  is related with the increased stress {over

the original stress P ) as

. m\-'Hn
ﬁ AH = m?-Hn-.ﬁP 18} AH = AP
H, AP
[ ) — &P i =
© m, (D) aH m,-H,

where, m,_ = medulus of volume change corresponding to the onginal pressure, P

Coulomb's theory of earth pressure is based on

{A) the theory of elasticity (B) _the theory of plasticity
(C) empirical rules /(.B‘)/ wedge theory
Bf:aring capacity should be calculated from the criteria of

shear only {B) seftlement only
}C*’ shear and setilement {D} none of the above

9
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84. As ¢ increases, co-clficien of acthive earth prgssure
(A) [Increases /HFS Decreases
(C) Remains sume (D) None cof these
85. Which one of the following is correctly matched 7
{A) Clay, Silt ~  causes odour
(B} Baciena - causes colour
ACY  Algae - causes odour, coloured turbidity
(D} Solids - causes disease
86. A coagulant generally used is
{A) Chlioride (B) Bleaching powder
T Alum (D) Fernic chlonde
87. The yield of the well is measured in
(A) Cumechr (B} litresthr
(€) kg'hr @1 either (A) ot (B)
88. The water bearing strala 15 called
) An acquifer (B} An aguiclude
(C} Anpaquifuge (D) Zaone of Sawrations
89. The maximum permissible concentration of sulphates for potable water is
(A) 150 mg B 250mg! (C) 300 mg! D) 500 mg!
90. Match List - I with List—11:
List -1 List - 11
{Coagulant) ' {Chemical Name)
(a)  AL(SO,};-18H,0 I.  Copperas
(b) FeS0,7H,0 2. Sodium Aluminate
{e)  Na,ALO, 3. Alum
(d} 2Fe,(50,), + 2Fe(l, 4. Chlonnased Copperas
{a) (B) (o) (d)
A) 1 2 3 4
By 3 2 4 1
[ i ol 2 4
My 1 4 2 3
CLEG 10

type of foundation is preferable on soil of poor beanng capacity ?
] Ralt (B) Stepped
{C) Gnilage {D} None of the above

Pile caps are used on 2 group of piles w
{A} ncrease the load bearing capacity of cach pile.
{B) protect the piles from lateral displacement.
{C) protect in case of offshore structure.
ABT" spread the verncal and harizontal loads to all the piles,
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The shape of graph of population against time plonted according to the anthmetical
increase method is
(A) A hyperbola : (B) A parabola
A straight line {1} S type graph
The movement of collowdal particles are associated with
(A) Tyndal effect {B) Discrete particle
(C) Schmutzedecke /gD-r' Brownian movement
Test for BOD is usually made at a temperature of
(A) G°C (B) 10°C /(,G(' 20°C e} g X
Biological action is used in
{A) Sereens (B} Sedimentation lacks
}Qj’ Trickling filters (Dy  All of the above

The gases given out of a septic tank are
(A} CO,+80,+N (B) CO,+PH, +NH,

/|,€‘_i' CO, + CH, + H,5S (D} CH,+0,+H,
Which of the following is not a biological process for destroying organic compounds ?
(A) Composting (B) Trickling filter

/(Er Calcination (D} Acuvated sludge
Presence of SO, in air can be detected by
(A} Ultraviolet pulsed flucrescence  (B)  Flame photometry
(C) Colorimetric _’(B‘]'/ Any of the above
A single rapid test fo determine the pollution status of the river water
(A) BOD (B) COD
{C)  Total organic sohds /(BTI D.O.
The process of sclective killing of infectious agents by chemical or physical means is

known as
Dhsinfection {B) Punfication
(C) Reetification {D) Recychng

100, The amount of oxygen consumed by sewage from an cxidising agent like potassium

dichromate is termed as
(A) Bio-chemical oxygen demand

’/LB'T' Chemical oxygen demand

() Relatve stabihily
(D) None of the above

11 CLEG
Auhippo.com



Auhippo.com

101. Favourable temperature for rapid sludge digestion 15
(AY Siol0°C (By 10wl15°C
(C} 4010 60°C '_ga)’ 2810 38 °C

102. Insewage treatmenl plants, the o1l and grease is removed by
(A)  Oxsdation {B) Filtration Skimming (D) Screcning

103. Main gas from land fills 1s

{A) Oxygen {B) WNitrogen

() Carbon monoxide M Methane
164, A natural method of disposal of sewage is

,ﬂ? Sewage irmigation (B) Septic tank

(C) Composting (D) Acrated lagooning
103, Hydraulic lime has small quanuties of

{A) silica (B) . alumna

(C) iron oxide ,(«D‘j/ all of the sbove
106. Creep in concrete is undesirable particularly i

(A} RCC columns (B} Continuous beams

¥ Prestressed structures (D} All of the above

107, 1f the slump of concrete mix is 70 mm, its workahility s considered 1o be
(A] very low (B) low *7 medium {Dy hgh

108. The separation of coarse aggregates from concrele during its transportation is
segregalion (B} shrinkage (C} bleeding (D) creeping

109, The following compound helps in early strength of cement concrete
(A) Tn calcium silicate (B} _ Di calcium silicate

(€)Y Gypsum Tri calcium aluminate

110. For repair of road

(A) low heal cement is used (B) sulphate resistanl cement
(C)  high alumina cement {,(B‘i‘ rapid hardening cement
111. In slump test, in determuining workab:lity of concrete, the slump 1s expressed in
(A} cubic centimetres/hour (B} square centimetres’hour
,(H'r centimetres (13)  hours

112, A concrete s said to be workable if
(A} Itshows signs of bleeding,
(B), It shows signs of segregation.
") It can be easily mixed, placed and compacred.
(D} Itisin the form of a paste.

CLEG 12 o
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113, Workability of concrete mix having very low water-cement ratio should be obtained by
{A) _ Flexural strength lest (B) Slump lest
Compaction laclor lest (D)  Any one of the above

114, More waler should not be added in the concrete mix, as 1t will increase
(A} Strength {B)  Durability
/(;2)" W ater-cement ralio (D} Al of the above

115. The maximum actlection of a simply supported beam of length ‘L wath uniformly
distributed load "W is

1 WL oy ol B , WL?
Sl B wEm " RH D) SE]
116. The prinimum percentage of steel for HYSD bars as per IS 456-2000 for slab 1s
)m/m 0.12% By 0.15% () 0.1% (D) 0.6%

117, The modular ratio between gteel and any grade of concrete 1s given by
(A) 270730, /@2 28030, (C) 38030, (D) 38530,

Where o, = Permissible compress:ve stress due to bending m concrete in N/mm=,

118. With usual nelations. for a balanced section the depth of N.A. 15 miven by
d-n %% d-np

(A} meig, = n (8) mr:F.;t.c:T

() Ty | d+n '/Hf LS T __n
L= == ¥, i
Ty n 5] d-n

Al

119. The factor of safely for
(A)  stee] and concrete are same
_JB)‘ steel 1s lower than thal for concrete
{(7)  steel s hugher than that for concrete
(D} norelation

120. Choose the correct answer
In & member subjected o an axial tensile force and bending moment, the maxunum
allowable stress in axtal tension 1s f, and the maximum allowable bending stress in tension

is £, 1T 1] and 1" are their corresponding actual axial tensile and bending siresses, the
relationskip which holds goods is

f? t-|11 rt' I‘l.':t‘
R A g
!"1' i11. 1‘ ]]'l'l
O =] i Pty s |
{ Tl rh'. { i: thl
o 13 CLEG
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121. The design criterion in R.C.C. walls is very similar to
{A) Slabs (B) Retaning walls
(C) Plates /(B‘r Piers

£22. When the eccentricity does not exceed (105 times the least lateral dimension the member
may be designed by the following equation :

(A) P,=04f A +OTSEA, (B) P,=05f A +067FA,
MY P =041, A +O6TEA (D) P, =f A +EA,
123. All columns shall be designed for an eccentricity not less than
I b I b I+b {+h

(A) 39* 500 ,‘m/ 506730 (© o0 ® o0
124. Number of rivets required in a joint is equal to

& Load Load

\A) " Shear strength of nivet Rivet value

c Load Load

() Bearing strength of rivet (L} Working strength of plate

125. For a cantilever slab the span to effective deph ratio should not exceed
(A} 5 (B) 6 ﬁg‘ 7 (Dy 4
126, For economic spacing of trusses, the cost of truss should be equal to
(A} cost of purlins + cost of roef covering
(B} cost of purlins + 2 x cost of roof covering
(C) cost of roof covering
2 « cost of purlins + cost of roof covering

127. The deflection of a prismatic beam may be decreased by
increasing the depth of beam (B} increasing the span
{C) decrease the depth of beam (D)} decrease the width of beam

128. The minimum cube strength of concrete used for a prestressed member 1s
(A) 5N/mm? (B) 15N/mm? (C) 25 N/mm? (D) None of the above .

129. Consider the stalements :
. Prestressed concrete structures are most economical.
II.  Prestressed concrete structures suitable for long spans.
IIl.  Prestressed concrete structures are subjected to heavy loads.
IV. Prestressed concrete structures are subjected to impact and vibrations.

QOf these stalements :
(A) [alone is correct. (B) 1 and I1 are correct.
(C) L 1I and Il are correct. All are correct,
CLEG 14 o
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130. The clear cover for a RCC beam 15 usually
(A} 20mm ) 25 mm (C) 30mm (D} 35mm

131, Assertion (A): A stress jsobar is & line which connects all points below the ground
surface of equal stress,

Reason (R):  Stress isobar is a stress coniour.

Codes :

/(4'0}‘ Hoth (A) and (R) are true and (R) is the carrect explanation of (A).
(By Both (A) and (R) are true, but {R) is not a correct explanation of (A).
(CY (A} is true, but (R) s false,

(D} {(A) s false, but (R} is true.

132. Far the design of steel stacks, the thickness of the steel plates is increased by
(A) 1.0mm JB'( 15mm {(C) 20mm (D) 2.5mm

133, Choose the incorrect statement.
Combined Trapezoidal footing are provided
. 1o avord eccentricity of loading with respect o the base.
2. when the space outside the exteror column is imited.
3. when the exterior celumn carries the heavier load.
Of these stalements

(A) 1 and 2 are correct, ,)B'ff 1,2 and 3 are correct.
(C) 2 and 3 are correct. (I¥) 1 and 3 are correct.
134. A pre-siressed concreie induces artificially  stresses in @ structure before it is
loaded.
{A) tensile (B) shear
V;ej’ compressive (D} all of the above

135. Darcy's Law is for
(A) Open channel flow (B) Diffusion
ACY  Underground motion of water (D) Evaporation of surface water

136. pH value of drinking water should be in the range of
(A) 1tlo2 B) 3wé
o
Y 651085 (D) 8.6 tol0

137, A hydrograph is a plot of

(A} Precipitation agains! time (B} Direct runoff against time
_{€)  Stream flow against time (D) Surface runoff against time
Q 15 CLEG
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138. Geological lormations that do not contain ground water at all are called
Y aguifuges (B} aguitards
(C)  asquicludes (D) aquifers

139. When the base flow 15 separated from the slorm-hvdrograph the resulting plot is known as
{A) excess-runoff hydrograph (B) excess-rainfall hydrograph
direct-runoft hydrograph (D) direct-rainfall hyetograph

140. Anephemeral stream s
(A) one which alwavs carries some flow.
(B) one which carries only snowmell water.
(C}  one which has limired contribution of ground warter.
yy/ one which does nat have any base flow coniribunon.

141. Assertion (A): Ground water from artesian wells is a good source.

Reason (R} : It conltains no suspended maller and no bacteria. Il requires lesser
treatment.

Codes ;

(A) [A)and (R} both are not correct.
{A) and (R} both are correct.

{C) (A)is false and (R) is true.

{D) (A)is true and (R)1s false.

142, An aquiclude is
(A) anon-artesian aquifer
(B) ,.an artesian aquifer
’,K{‘ a confined bed of impervious matenal between aquifers
(I}) alarge water body underground

143, Which of the following operation washes oul salts from the upper zone of the soil 7

{A} Evapotranspiration (B) Separation
(C) Washing ,,em‘ Leaching
144. An aquifer confined at the bottom but not at the top is known as
(A) perched aquifer ,LBT' unconfined aquifzr
{C} confined aquifer (D) semi-confined aquifcr

145. A work which carries one channel over another without the bed level of the lower channel,
15 called

(A) Agquaduct /(-U{- Super passage
(C) Siphon (D) Hybrid channel

CLEG 16 a
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146. The top ol a weir or spillway, 1s called
(A) Peak ' Crest
(C) Rudge (D} Head

147. Which canal is used 1o drain off water from waler logged areas 7
{A} Diltch canal Mﬂrajn canal
{C)y Perennial canal (D) Percolation canal

148, The volume of water which can be extracted by force of gravity from 2 unit velume of
aquifer material is fermed as
{A) porosily
{B) _ specific retention
"} specific yield
(D) specific storage

149, The canals constructed for the diversion of flood water of rivers 15 cailed
(A) Flood canal &7 Inundation canal
(C) Drain (D) Ridge canal

150. The hydrology is a science which deals with the
(A) occurrence of water on the earth
(B) distnbunion of water on the earth
{C)  movement of water on the earth
all of the above

151. A Hydraulic jump is formed when
(A) asub-critical flow strikes against a super-critical flow.
a super-cntical flow strikes against a sub-critical flow.
{C)  the two Hows of super-critical velocity meet each other.
(D) the two Mlows of sub-critical velocity meet each other,

152. The saliity in water
‘,[-ﬁf. reduces the evaporation (B) does not affect evaperaticn
('} increases the evaporation (I first reduces then mereases

153, An effective way to conduct “Origin and Destination” study is
(A} Road side interview (B) Licence plate methed
_Lg_‘y" Return post card method (D) Tag on car method

154, Traffic density is
{4} Number of vehicles moving in a specific dmection per lane per day.
(B) _Number of vehicles moving in a specific direction per hour.
Number of vehicles per unit length.
(D) Maximum number of vehicles passing a given point in one hour,

o 17 CLEG
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155. A Channelization Island should have
sinall entry radius and large exist radius
(B} large entry radius and small exit radius
() equal rady for entry and exit
(D) large entry and exit radii

156. Speed regulation on roads is decided on the basis of
{A) 60 percentile cumulative [requency
(B) 75 percentile cumulative frequency
(C) _ 80 percentile cumulative frequency
&3 percentile cumulative frequency

157, Al a4 arm intersection, 16 cross conflict points are serve if
(A)  Both are one way roads.
Both are two way roads.
(C) One s two way and other is one way road.
(D} None of these.

158. The value of maximum gradient for hill roads is
{A) lm5 (By linlD
lin 15 D) 1in20

Auhippo.com

159. Match List - [ with List - 1] and select the correct answer by using the code given below :

List—1I List — 1
(a} PCU value for car | S
(b) Mimmum lateral clearance desirable from pavement .. 8"
(¢) Area of acule vision 1100
{d) Traffic sign should be placed within a cone of 4 1.B5
(@) by (¢} {d)
A) ¢ 3 2 |
By I 2 3 4
I 4 | s
o 4 1 2 3
160. In case of multi lane road, overtaking 1s generaily permitted from
(A) left side only (B} nghtside only
‘).E{ buoth sides (D) none of the above
161, The purpose of “Divisionai lsland™ 15 fo elimigate
{A} Naose to Tail collisicn "Hj/m Head on Collision
(C) Side Surpe (D} Tail to Tail Colhsion

CLEG 18
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63,

164.

L65.

166,

167.

168,

169.

170.
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Rotary 15 weally swied
when traffic from meore than 4 streams join al the junction
{B) when traffic is heavy
(C) when pedestnan traffic is heavy
{D) for congested areas

The Indian Rosd Congress came inlo exislence in
(A) 1927 /u:n/wn (C) 1943 D) 1947

The roads connecting one 1own with another tgwn (s designated as
(A) Nauonal Highway State Highway
(C) Disinet Roads (D) Village Roads

The widening of a road is not required when its radius will be
(A)  Jess than 300 m (B)  less than 460 m
M’Jmo-re than 300 m (D) more than 460 m
Which one of the following is correctly matched ?
(@} Overall length of vehicle 1. Lane width
(b}  Weight of the vehicle Pavement thickness
(¢}  Width of the vehicle Clzarance of the subway or undemass

(d)  Height of the vehicle Turning radius of curve

a)  (b) fc)  (d)

£ e B

4 2 1 3
B 3 1 4 2
(0 2 3 I 4
m 1 2 3 4

While testing a soil, thread test is conducted 1n the fieid in order to find cut
(A liguid limit (D) bearing limit

(C) shnonkage limit (B plastc himit
The different material used for road construction are

stone sggregate, soil and binder  {B)  sand, soil and binder
(C) bitumen, so1l and binder (D} cement, soil and binder

The value of group index of a soil varies from

(A} 40to 50 B} 0020 {C) 201030 (D) 30to 40
When Lhe coefficient of friction is neglected, the maximum rate of super elevation is given
oYy
WV i Ve V3
(Al TR (B} 7R )‘-”/2353 D) 73R
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171, Match the following :

{4} Thorough maintenance of earthemn road done 1. localized Theaving up
along pavement portion

(b)  Repairs wark of cement concrete road isdone 2. afier rainy season
(e}  Patching should be done 3 after summer season
(d) Frost heaving is 4. after rainy season

ta) (b)) (c) (d)

(A) 2 1 4

2 03 4 |
() 3 7 4
D4 3 2 |

172. At places of heavy rainfall, side drains to be provided on a road should be
trapezoidal in sechon (B) tmangular in section
(C) rectangular in section (DY circular in section

173. The first railway train in India ran between

Bombay and Thana {B) Howrah and Raniganj
{C) Madras and Bangalore (D) Calcutta and Delhi
174. Broad Gauge (in Railways) is
1676 mm {B) 1524 mm
(C)y 1435 mm (D) 1000 mm

175. The ohjecl of double headed rail is to
(A) provide symmetrical section aboul both horizontal and vertical axes.
use both the Nanges for nding
(C)  employ chairs to hold the rail
(D) gain more vertical sulfess

176. Coning of wheels is provided
{A) to gave dvnamue stability of the rolling stock
] toprevent laleral ship
{C) 1o save materials of wheels
{D} 1o swit super elevation on curves

177, In railway switch is
{A} Tongue rail
{8y Stock rail
1 Combination of both tongee and stock rail
([}  Tongue and siock rail combination but separated by flange way

CLEG 20 (8]
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178, Airport elevation is the reduced level about MSL of
{AY Conmol tower
/I-H’r Highest point of the landing area
{C) Lowest pont of the landing area
{D} None of these

179. The taxiway is the strip of pavement which connects
{A) City 10 the airport /tB'f Runway to apron
{C) Terminal Building to Taxi stand (D) None of the above

180. Pick out the odd.
Airport are classified on the basis of
{A) Runway lengzth (B} Pavement strength
(_U:(' Expected Air traffic (D) None of the above

1%1. Pick oul the incorrect statement :
{A} Ewvery port s a harbour but the reverse 13 not true.

{B) An isolated enclosed area for handling of cargo to be reshipped withoul the
intervention of customs :s called free port.

{Ct A location where foreign citizens and goods are cleared through custom house is
called entry port.

The essennial requirement of the harbour of refugee 15 spacious accommodation for
the mercantile marine.

182. The traffic volume is equal to

Traffic density B Traffic speed
(A) Traffic speed (B) Traffic density

/L.E’f- Traffic density = Trallwc speed (D) None of these

183. Resource smoothening means
{A) Gradual increase in resources
/LBT“ Cptimisation and economical utilizetion of resources
(C) Complete distribution of resources
(D) Mone of the above

184. Cost slope of the direct cost curve s given by

Crash cost — Normal cost B MNormal cost — Crash cost
(A) Crash time (B) Normal time
Crash cost - Normal cost - Normal cost — Crash cost
“* Nomng' ire — Crash time (1} Crash time
O 21 CLEG
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185. Slack,:s given as the difference between
Earliest expected time and latest allowable time.

{B} Final event time and imitial event time.
{C) Latest allowable time and earliest expected nme.
{D} Final event time and initial 2vent time.

186, What does the following figure indicate ?
B
A C

(A} amerge /QB{. a burst

(C) anactivity (D) none of the abave

187. The ogcurrence ﬂ["ihc-cump[-:tiun of an activity is called its
’pk? Head event (B) Tal event
(C) Dual role event (D) None of the above

188. A dummy activity
{A) has no tail event but only a head evenl
(B} has only head event but no Lo event
does not Fequire any FESOUTCes or any Lime

(D) consumes time and resources

189, Which cof the [ollowing statements is true ?
{A) PERT is activity oniented and adopts probabilistic approach
{B) CPM is event onented and adopts deterministic approach
(C) CPM is activity oriented and adopts probabilistic approach
)Hf PERT 1z event aniented and adopts probahilistic approach

190. In computer terminology virus is
(A) Disease affecting computer

(B) Viral infection caused due to accumulation of dust en computers

_LG"}"' An unsolicitated software programme corrupting the system
(D) None of the above

191, Microprocessor is an
(A) Electronic Machine /(Bj/Elr::ctrunic Chip
(C) Electro Magnetic Processor (D) WNone of the above
CLEG 22
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192. A flow chart is of the sequence of the steps to be followed n a solution of a
problem.
Pictorial depietion (B} Problem formulaticn
{C) Testing the program (D} Documentation

193. The screen image in a Visual Display Unit (VDU), is

(A) Tmy-dots (B)  Picture elements

(C) Pixels ’gD’f All of the above
194. Match the following :

Generation Basic Electronic Component

(a) First Generation 1. Transistors

(b} Second Generation 2. Vacuum tube
(¢)  Third Generation 3. Large scale integrated circuits
(d} Fourth Generation 4. Integrated circuits

(a) (b} {(c)} (d)

2 1 4 3
B 1 2 3 4
(C) 2 4 1 3
o 3 4 1 2
195, Common output devices are
(A} Magnetic tape (B} C.R. Tube
{C) Printers /}D?‘ All of the above
196. C.P.U. means
_JZA’JI Central Processing Unit (B) Control Processing Umt
(C)  Computing Processing Unit (D} All of the above

197. Expansion of ROM is

Rzad Only Memories (B) Read Qutput Memones
{C) Random Only Memories (D} All of the above
198. A standard key board has )
(A} 103 keys /cm/ 105 keys {(C) 110keys (D) 104 keys
199, Odd one out
(A} DOS (B) Windows (C) Linux (P FoxPro
200. In computer terminclogy W AN refers to
Wide Arca Network (B) Wide Access Network
{C)  Wavelength Network (D} Mone of the above
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